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(A)15°CT > [A] =09 M (B)20°C™ > [A]=0.5M

(C)25°C™ > [A]=02M (D)40°C™ > [A] =01 M
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(A) & 1 % (B)F& 141 4+ (OF-5 3 ENIE L D)X HEaps i 4

6. = 7300 KPF » Ay = BgysPF Jhi# 5 % s 3.39 x 107 mol/(L-s) » ¥ &4 & 5 0.2 atm >
FA-BYPARIELEFH  RFRBFERRRIAER- YPFAEE S FF (min) ?
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(A) 0.001 (B) 0.002 (C) 0.003 (D) 0.004
8. i* B F BV 4~ 5 3 4p (homogeneous)¥? 2£- 3 48 (heterogeneous) » T 7| i# Jﬁ" B34 F B9
Ay § Spif s (B)BLA # (Cbeid 2 (D)= 1+ 5
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PR [A] (M) [B] (M) ik & (M /s)
1 0.20 0.10 0.0150
2 0.30 0.10 0.0225
3 0.20 0.20 0.0600
(A)r = Kk[A][B] (B)r = k[A]*[B] (O)r = k[4][B]? (D) r = k[A]?[B]?
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(A) 20 (B) 30 (C) 40 (D) 50
7. 771 3R T ehg 4 P TRR TR F WY
(A)—120°C - 12 atmz § # (B)25°C » 8atmz § #
(C) 80°C > 4atm= ¥ 5 (D)200°C > 0.2atm™ 2 & #

1835 Bmfegsd8  2100°C p¥ > d 2atm 28 ¥ S /BR4ET Satm > H 2% £ AH L 5 cal ?
(A)0 (B)6 (©)9 (D) 12

19.BXFZF -~ 2 EBF8 > ¢ o3 i 45736 kcal/mole » B| 312 g en¥ &t ¥ *2:80.1°C
PR EP AR RS 5 cal? (L F WY & R= 1987 cal / mole-K)
(A) 2663 (B) 3680 (C) 5326 (D) 7360

20 2B A 1 F B 53 200°C P - ¥ latmehs F/RS > p 13 24giEs 18 22 » £
# %2 cal?(latm-L =24.22cal)
(A) —60.5 (B) —121.1 (C) 60.5 (D) 121.1

21 % F RS fe 50 Jen# R o PR B 12 atm HF RS T LRGF 2L # AU R 5 cal ?
(1cal =4.184] > latm-L = 24.22 cal)
(A) 145 (B) 195 (C) 608 (D) 658
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27. 4ok S H- £ AR L THTR- G F L ER

(A)~= 4 (B)ﬁfi (OF 7 74 (D)4e » % = & 4
28. % F % %" NaCl;\éﬂ—"f‘?/p i f?—"pé’: cpd RS 509
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2. B RFAGEEFR65.-k100°C 2 latmﬂi‘ﬂv’%‘ 100 °C pF-kz % f,% 0.018 == »
Pl-kz 2 v orivens 5 %50 cal? (latm:-L = 24.22 cal)
(A) —146.6 (B) —246.6 (C) —740.6 (D) —831.6

30. - + 5T (T2 B8 0 £ 527°CT S 600 cal 0 @ B 127°CT g o H S A E FIR 4

€27 % % > cal?

(A) =200 (B) =300 (C) —400 (D) —500

3LLEXRT IER22HR3 2B AB8AERET § 52 UIET 102 » B g
% % cal/K ?
(A)O (B) 1.25 (C) 1.38 (D) 1.87
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(A)6 (B) 7 (C) 8 (D)9
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¥#cs 1000 bar o fe B AT -RAPTHTT 0§ F e foRApaiz AR S 500
(A) 1.99 x 1073 (B) 2.99 x 103 (C)3.99 x 1073 (D) 4.99 x 1073
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(A)" fit-% i & (B)# 7 -5 fir O)r % P F-F (D) k-5 iz

37.230°CPF > kK~ e B~FEAMEr S22 24 B4 % 531.8 mmHg ~ 78.8 mmHg -
118.2 mmHg %2 282.7 mmHg > d #cdpdizh @ HLA:\—* Frexsl 4 B ?

(A)k (B)e p% O F (D)5 fk
B Hel hF s #l AEREIRFRCEEFEIHFRCH2LAEL ?
(A)R (B)1.2R (C)1.4R (D) 1.67R

0. KRFERIpDE-F BFF ABPT AR FEBERPRE > T AR F‘ P 9
(A)éf"jL E s et B R 8 FRE OF M2 L F i B (plug flow reactor)
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40. B F B2 F g F ¥ 8 02M Y omin™l s FHAER LS OS5M RIE XA 8L 55049

(A)5 (B) 10 (C) 15 (D) 20

4. 3 B F R 600°CE - 5F o P HLAH L1204 BIHESFEE 50 (s)?
(A) 5.78 x 1075 (B) 5.78 x 10~* (C)5.78 x 1073 (D) 5.78 x 1072

42. F Jis 280, + 0, > 2505 SO5 2. & # i % 5 1200g/s » B Oy chif 2@ % 5 %> g/s ?
(A) 120 (B) 240 (C) 480 (D) 2400
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(A)F i F2E B)EFF EsHE (OF §FF & (D)ix & Jis 5
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46.A>B+C 5- %F s B F i ¥ 85 87x1073s7 1 A f230% 3 & 5 54 ?
(A) 30 (B) 35 (C) 41 (D) 43
47 5 R BF > BF Rtk Rd IME320TMEZRF10448 £5d 0T M5 5 04ME RS 2 ks ?
(A) 10 (B) 15 (C) 20 (D) 25
48. F ik 5 ¥ feeht o) > 2T SR 5 w7
(A)F fad 2587 (B)F 4 kR (OP:F: (D)ff -fd %5

49§20 - B K kit > TP E
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S0. 5 F A+ B o Co AR AR BANE 2R BRI R R B2 5 5 5 M/

[A](M) 2.3300 2.2050 2.1205
T(s) 0 185 310
(A)6.76 x 1073 (B) 6.76 x 10~* (C) 1.35 x 1073 (D) 1.35 x 1074
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